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T.E & SCERT Exam 2023
(CANDIDATE RESPONSE SHEET)

Roll No

App No

Name

Paper/Subject D.El.Ed(Odia)
Exam Date 02 Jun 2023
Exam Slot 1

The questions are based on a short passage. Read the passage below to answer the questions.
Choose the correct answer from the 4 listed choices.

Chanakya Neeti is synonymous with efficient statecraft around the world, and Chanakya is
India’s face of political statecraft and the rich political understanding of its ancient heritage.
No political efficiency is devoid of understanding Chanakya and his ways of statecraft. In fact,
he showed the world what political theory is in practice. Ancient Indian history is incomplete
without a reference to his ways of statecraft and politics.

Chanakya amazes any scholar with his multifaceted character, but it had a distinct focused
aim. He was more about philosophy and thoughts put into action. He does not bore you with
his philosophical theory but engages you to think, act and achieve what you dream of. He
overthrew a mighty empire and put in the throne a humble man like Chandragupta Maurya.
He identified the potential ruler from a group of children, thus gave the world a great
sovereign who united the Indian subcontinentinto a political and administrative unit.

For sure, Chanakya’s mental capabilities were superb. The modern global diplomacy revolves
around his principle of 'saam, daam, dand, bhed' (persuade, purchase, punish and exploit the
weakness). His Arthashastra elevates the state to a position where service to it entails
imperatives unknown to morality.

Chanakya would be identified as a professor of political science and economics at Taxila. He
was an economic, political and royal adviser and a think tank, and can be credited to have

Puasage: given India its first complex united empire.

Question ID: 10011
Topic Name:SECTION-I English Language
Question: 4 -
Where did Chanakya find Chandragupta Maurya?

A" From royal nobles
B From a group of soldiers
€ From the sons of the king
D : :

From a group of children D D

Answer Given By Candidate:D

Question ID:10012
Topic Name:SECTION-I English Language
Question:

Which principle does the modern day global diplomacy follow?
A Reward, request, entreaty and punishment
B Persuasion, exploitation, punishment and purchase Correct Answer

€ Request, cajole, threaten and persuade

‘
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D purchase, punish, request and accept

Answer Given By Candidate:B

Question 1D:10013
Topic Name:SECTION-I English Language

stion: . . . .
Question: \nhat was identified as the profession of Chanakya at Taxila?
A Teacher of warfare techniques
B Minister

€ Teacher of political science and economics Correct Answer

D Chief of armed forces

Answer Given By Candidate:C
Question ID: 10014
Topic Name:SECTION-I English Language
Question: The synonym of “Absolute” is:

A Partition

B

Complete Correct Answer
¢ Minor
D Partial

Answer Given By Candidate:B

Question ID: 10015

Topic Name:SECTION-1 English Language

Question: ¥ D . e =
Which of the following is synonym of “assorted”?

A |dentical

B Diversified Correct Answer
€ Similar

D Colourless

Answer Given By Candidate: A

Question ID: 10016
Topic Name:SECTION-1 English Language

Question: \What s the antonym of the word luxurious?
A Austere Correct Answer

B Diligent

€ Massive

D Comfort

Answer Given By Candidate: C

Question ID:10017
Topic Name:SECTION-I English Language

‘
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Question: Salact the meaning of the following idiom/phrase:
“To have cold feet”.

A To feel very cold

B " ;
To be anxious and nervous Correct Answer

¢ To stand on ice

D' To agree with one another

Answer Given By Candidate:B

Question ID: 10018
Topic Name:SECTION-I English Language
Question: Se|act the meaning of the following idiom/phrase:

“Heart and Soul”.
A Very dignified and royal
B Very seriously and sincerely Correct Answer
€ Very disputed and doubtful

D Very threatening and dangerous

Answer Given By Candidate: A

Question ID: 10019
Topic Name:SECTION-I English Language

Question: Complete the sentence with articles.
Sheena is singer and her husband is song writer.

A a,a Correct Answer
B an,a

C an, no article

D no article, the

Answer Given By Candidate: A

Question TD: 100110
Topic Name:SECTION-I English Language

Question: complete the sentence using the correct preposition.

which box did you keep my phone?

A Inside Correct Answer
B As

¢ of

D Despite

Answer Given By Candidate: A

Question ID: 100111
Topic Name:SECTION-I Education and General Awareness

‘
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Question:

Which is considered to be the largest part of the brain in
humans?

IR F13H6R A0IQ 9C 2°8l 629% 61 T6TSEG!
QAU ?

A Cerebellum

aAgeEs,
B | eft cerebral cortex

QIEl 66T 6RINES'G

C Cerebrum

6699¢]

Correct Answer

D Medulla
6E1gml

Answer Given By Candidate:C

Question ID: 100112
Topic Name:SECTION-I Education and General Awareness

Question: |n which year did the Right to Education (RTE) come into
effect?

S8 2RJFIR (RTE) 696 F Qldinior 68mI?
A 2005
2005

B 1990
1990

¢ 1957
1957

D 2010
2010

Correct Answer
Answer Given By Candidate: A

Question ID: 100113
Topic Name:SECTION-I Education and General Awareness

Question: N University in India can award a Degree without

approval of:

RRER 6RIEL FYRYUIREG TR AGELNRER Gl LI
A6 QIE:

A Central Ministry of Education
699 S8 (1GElIRA

B University Grants Commission

FEIQUIRLL 29<1a 26!

Correct Answer

WtsApp/Call- 8596976190



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

BPEIQ AA8 GF QA g4 Q9 AN

Download “Tech Of World” App

C State Department of Education

QAURY SIQ SRUGI

D CBSE
CBSE (9599R)

Answer Given By Candidate: A

Question 1D: 100114
Topie Name:SECTION-I Education and General Awareness
Question:
What is the primary use of the ryotwari system?

QAEAISEIN RYSFIR LI2IFR UL K'61?

A Judicial legislations

QUIBS 2IRe

B Tax collection

Tad 2191

Correct Answer

C Agricultural reforms
qf e

D Appointment of village leaders
FIfl 6861 §

Answer Given By Candidate:D

Question ID; 100115
Topiec Name:SECTION-I Education and General Awareness

Question: | line with the National Education Policy-2020, how many
National Curriculum Frameworks are proposed to be

developed?

RIS1A S8 @15-9090 24, 6962 WPl AI0YFE
QI YRde K9Qlg 919 ALR?
A q.
B 2

2
(e 3

3
D 4 )

4 Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:100116
Topic Name:SECTION-I Reasoning
Question:
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Read the assumptions and select the best conclusions/conclusion that follow/follows the assumptions definitely.
Assumptions:

I A is the mother-in law of B’s Sister.
1. B’s sister is Meenakshi.

Conclusions:
1. D isthe mother of A

2. Ais married to Surendra
ARAAGNGYER AeS 99° FEE N6 ARAEIGYET AGINE/A99096F Rl L6TIRag
ARIG/A9189¢e 048 Kog!

2QAEI:

. A2SE B @ QRdNE dlig |
Il B & Q&N 62988 QI

a81a:
1. AQEIAFS D

2. AY6RET QICl /088

A Only conclusion 1 follows

699R I818 1 FYMES

B Both the conclusions follow

QoKL 9918 219998 K8

C Only Conclusion 2 follows

699n 9918 2 2G40 K98

D Neither 1 nor 2 follows

1 @9l 2 GYRYS g6%

Correct Answer

Answer Given By Candidate: D

Question ID: 100117
Topic Name:SECTION-I Reasoning
Question: |f X = 48 and BAT= 46, then GOA =

4G X = 484Q° QUI9'= 46, GIU6D 65lI2l=
A 39
39

B 42
42

C 48
48

2 32 Correct Answer

Answer Given By Candidate:D

Question 1D: 100118
Topic Name:SECTION-1 Reasoning
Question: |f ‘PILLOW’ is coded as ‘OHKKNV’, then ‘GUIDE’ is coded as

£1Q TUSMI ‘'OHKKNV’ QI6Q L6@6a QQULIN, 6669 ‘GlInG” deEea aoUdid|

‘
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A FTSCD
FTSCD

B FTHCD TSIy T
FTHCD _orrect Answer

¢ FHTCD
FHTCD

D FHSCD
FHSCD

Answer Given By Candidate:B

Question ID: 100119
Topic Name:SECTION-1 Reasoning
Question: Find the next number in the series.

2,6,12,20,
66618 ARQ6l o6l Fda 9ag |

2,6,12,20,

A 22
22

B 30
30
c 40
40

p 20
20

Correct Answer

Answer Given By Candidate:B

Question 1D:100120
Topic Name:SECTION-I Reasoning

Question: || the blank in the series given below.

AAA, BCD, CEG, EIM.
a6 @alalaegm 6516168 Bl e ol @G|

AAA,BCD, CEG; EIM.

A DFL
DFL

B DGM
DGM

c DGIJ
DaGJ

D DFH
DFH

Correct Answer

Answer Given By Candidate:C

Question ID: 100121
Topic Name:SECTION-I Teaching Aptitude
Question: \What are the benefits of changing seats of students in Classroom?

666NG)L6Q BIERSTE DY A Q FIRQ 2§12

A Develop Social Skills
ARG Q86! YQls KOG

‘
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B Develop Emotional bonding

RIRICR I RGS GG

€ Information Sharing

goal dlLe 99l

D All of the Above
LUK D19

Correct Answer
Answer Given By Candidate:D

Question ID: 100122
Topic Name:SECTION-I Teaching Aptitude
Question: Most classrooms in India are multilingual and this needs to be seen as by the

teacher.

QUAGER ZRIFI*E 66l411G)E FERU ¥Q° YQIg J8e _ QIN6Q 6Q¢Ql 2IENS |

A an obstacle

9q geeaq

a resource

@ g

Correct Answer

C  aproblem

@ el

D None of the above
QIERID FRIQ AR QI

Answer Given By Candidate: B

Question ID: 100123
Topic Name:SECTION-I Teaching Aptitude
Question: Which of the following strategies should a teacher employ to manage the class?

666N IECIRAIEUIN R6E SAG FYRYS FUQ 694 QGRS SRS K09 A5F?

A _Controlling the class through strict rules

Q6019 GRE FIRIFIER 666N GAmE

Punishing all the students if the rules are not followed

Qac @ FIFeMm 9919 SISRISlE @8

€ Making students strictly follow the rules without questioning

2IeRIg1T 991 doUKACNE Ffg FFINT GI6T ARG @RQIq SRl QAU

D Giving sufficient time for self-reflection
. Correct Answer
?qu@a‘l'a diml 62 Ll 64

Answer Given By Candidate:D

Question 1D: 100124
Topic Name:SECTION-I Teaching Aptitude

‘
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Question: Which of the following is/are the goals of education?

QIMES FRIQ 699G TR AAY 269/ 26T

A Fostering creativity

deadinelg 6dI2Iee a9l

B Enhancing social skills

AIFe Q@/GI Q&

C  Promoting lifelong learning

Q19N dAIG 69IQIEE KRR
D All of the Above
QU6CAD 9619 Correct Answer

Answer Given By Candidate:D

Question 1D: 100125
Topic Name:SECTION-I Teaching Aptitude
Question: |dentify an impairment to cognitive functioning which originate before age 18.

RIGHS QNIRRT 9@ 2GRl TFF @9 I 18 Qd IR AYS 949 |

A Information Disability
goal s

B Process Disability
gaal AVAS!

C Intellectual Disability

6918Q YOS

Correct Answer

D Integration Disability
R0l 2B

Answer Given By Candidate:C

Question ID: 100126
Topic Name:SECTION-I Teaching Aptitude

Question: The teacher creates an environment where students take ownership in the direction

and content of their learning. This kind of approach leads to learning:

J89 98 dR696 9% 98 6090160 BISFIES 69FIew AR S5 99° THASYER
ARSI F28 @08 | 9L 9RIQ 2IKESY SIS o6 2I6TR 26!

A Which is teacher-centered; the teacher acts as tutor.

ALl @ J99-69510; I8081 S8HE1 N6 Sy 998 |
B Which is student-centered; the teacher acts as facilitator.

el @ BIe-60915; I90S1 dLI0e AUNER FIdY 998G | Correct Answer
C  Which is teacher — centered; the teacher acts as facilitator.

9 § G99 - 699196; IANE1 22108 U6 QY 963 |

D None of the above

Q6D FRIQ B QIE
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Answer Given By Candidate:D

Question 1D:100127
Topic Name:SECTION-I Teaching Aptitude
Question: \\hich of the following is not a source of informal Education?

FERES FRIQ 669F A6FNUCIAG IR AL G642

A Education given by parent.

2ERIeas QIR SRR F8l |

B Education given by neighbors.

d6gIshea g9l QAR Sl |

€ Education through classroom teaching.

65161 9| S8l FIIFIER S8l |

Correct Answer

Education by peer groups.

geqdh solge gIo1 a8l

Answer Given By Candidate:C

Question ID:100128
Topic Name:SECTION-I Teaching Aptitude
Question: Classroom learning, Institute grading/certification, or planned education of different

subjects with a proper syllabus-acquired by attending an institution is:

QUL F8l, RERGIF 6916°/ATT6RA] T 98 AGYRER 645 6CR VYD

dIoYgel 96 QRG QUM 6LIRRIST SISl 6LR&:
A Formal Education

2GNYER Sl

Correct Answer

B Non-formal Education

2A4-2IgYGES S8l
C |n formal Education

2IGYE FN6a

D None of the above

QAU FRIQ G Q1&
Answer Given By Candidate: A

Question ID:100129
Topic Name:SECTION-I Teaching Aptitude
Question: (e of the reasons for the growth of indiscipline in a classroom is:

661616)26Q YEPRITINGI TR AGUSE FINE 6LAR:

A Favoritisms

4«

B Proper rules are not enforced

Qe Gof AIdIRIo 6eaIE

‘
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€ Lack of proper communication
Ldds 6dIslcdlolal WIS

D All of the Above
Qe L1

Correct Answer

Answer Given By Candidate:B
Question ID: 100130

Topic Name:SECTION-I Teaching Aptitude
Question: Disaareements and quarrels in classroom between peers is due:

INellaE F1260! 6561960l F1T6Re 99° Goly] QIS L

A Lack of understanding of each other

o9 g 9EQIN ANS

B The rivalry between groups
6ol (16 ﬂ@?@@l

C Discrimination
(D BIRBIEN

D All of the Above
Q6 L1

Correct Answer
Answer Given By Candidate:D
Question ID: 100131
'['upif;: ;‘(atne:SEC'l'l-(iN-ll Odia Language - - _ _ B
2 o6R TAKIRRISI SR GO FRIQ 60Q G197 ‘IR ARG 6 694'A
a6l QI €18 ?

5 ol
¢ oa

D gRlm Correct Answer
Answer Given By Candidate:D
Question 1D:100132
Topic Name:SECTION-II Odia Language
ions [T
SR ‘e ‘699 B2l QA IR K7
A g]ﬂ&] Correct Answer
)
C
<
P glmig

Answer Given By Candidate: A

‘
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Question ID: 100133
Topic Name:SECTION-II Odia Language

¢ g6Q QPSR OIR YA, F6AER, JINIAES QY IR 990169 Q%
QIR ARIAGY 6Q¢RUG F6m ?

L AR gl

P QU@ QY Correct Answer
¢ g1l

P Q1 QU

Answer Given By Candidate:B

Question ID: 100134
Topic Name:SECTION-IT Odia Language

Question: 12161 ‘21’ IR 'QRE'A FAE 19T @9 ?
\ ARGE

b 260

©ae

T T

Answer Given By Candidate: D

Question ID: 100135
Topie Name:SECTION-II Odia Language

uetionadj0’ Q FANS I8 F6RIB FRIQ 68LE7?
Aamgal  Correet Answer

" Qg2

¢ adoion

D ‘;lgﬂ

Answer Given By Candidate: A
Question ID: 1001306
Topic Name:SECTION-II Odia Language

U odie’ 699 999 FA1S 22 69RIA 98 2667
b aoue Correct Answer

5 e

“ eqleIR

" 99

Answer Given By Candidate: A

Question 1D: 100137
Topic Name:SECTION-II Odia Language
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Question:

AR ACR6Q YA FIF SRAI AR 6TIR © AERQ I' OIER P6C1 60R
ERIRKILNT QURTIR *RAIAQ?

' QelQ Q6 Qdeq a8

5 210 QI06Q &S

¢ AR FAA Q@ Correct Answer
P 28 g1 04 [l6g

Answer Given By Candidate:C ‘

Question ID: 100138
Topic Name:SECTION-1I Odia Language

QIR G861 SIS 6mIER K'a 9287

-

a5e ade
L 2]‘:‘9@"{"‘ Q]ﬁé Correct Answer
ge 98 QIg 989!

> 23 go¢ll 618

£

Answer Given By Candidate:B

Question ID:100139
Topie Name:SECTION-II Odia Language

e @ Q19 ] K82l AMG g9F A9IR 6I'A AR F9F FAETER | 926D
6EIRE 6NN QRN A2l @4l ?

\ Q6LR 699l

b 29y 621RQS

¢ dIgR 6TIRDS

" Q8 QEI6R]!  Correct Answer
At Givei By CandidateiD

Question ID:100140

Topic Name:SECTION-11 Odia Language
Question: acfwR 6T ?

A

B ;
Correct Answer

D D D

D g

Answer Given By Candidate: Not Attempted

Question ID: 100141
Topic Name:SECTION-11 Odia Language

‘
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Question:

ERE0 TS 48R AR ?
- Correct Answer
B g
C ¢
D @

Answer Given By Candidate:Not Attempted

Question ID: 100142

Topic Name:SECTION-I1 Odia Language
estion: A A

Question: cod® ARITIE QU8R 4 ?

A ~
W Correct Answer

Answer Given By Candidate:D

Question ID: 100143
Topic Name:SECTION-II Odia Language

Question: coIRR1 BFSIA RGAR1 66| 6QEIFE ARE Feam §a el

A QlFRlea Correct Answer
B ocea
C Qaeea
D geeiea

Answer Given By Candidate: A

Question ID: 100144
Topic Name:SECTION-11 Odia Language

Question: coiclion 651RAS | 6QEIFE 00T 6aa FesIey ?

AL QeeIea

B IQIoN

¢
qaRIeR Correct Answer

D Saige

Answer Given By Candidate:C

Question ID:100145

Topic Name:SECTION-1I Odia Language
Question: picreie PR UOQ 9@ QQl
A BRe

B Qmy

8
af | Correct Answer
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D oeeq

Answer Given By Candidate: C

Question 1D: 100191
Topic Name:SECTION-I1I Mathematics
Question: \jary buys an old sewing machine for Rs. 3600. She spends Rs. 800 on its repairs

and another 400 on servicing. If she sells the sewing machine for Rs. 6000, what
is her gain percent?
6615 98 g4l G6AR 66198 3600 SRIGR FEIG | 69 9LIR AUAT IS 800

ol SIF 998 19 9EE° QIR PIQ 400 o= §IF 98 | 48 69 Jema
6619QG 6000 FRIER BG A8, 6061 CIFR AR TS 667 68972

A  66.66%
66.66%
B 12.00%
12.00%
C 56.25%
56.25%
D 25% s
g 5; Correct Answer
0

Answer Given By Candidate: 1)

Question ID: 100192

Topic Name:SECTION-1I Mathematics
Question: s han borrowed Rs. 12000 from his friend, at simple interest, at 6% per
annum. He returned Rs 15600 to his friend. How long did Mohan take to return

the money?
LIRS Clut AIpParOIQ QIR 6% 99R 2169 12000 Tl Gél Qﬁﬁgﬁml 64

Pl 995 15600 9@l 6PN 6LmEem | Tafl 6FUDMSIG 6ClLRG 696¢
Q1 RUITRI?

A 2years
204
o e Correct Answer
sqd
C byears
6 2d
D 3 years
3qd

Answer Given By Candidate:B

Question ID:100193

Topic Name:SECTION-1I Mathematics

Question: .
The compound interest on Rs 16000 at 20% per annum for 9 months,

compounded quarterly is:

9 €l19 QIR R 20% LIGER 16000 SF| ATER 9e98 <o, 6Ga14Q
°6LIRe ARG

A Rs2522 Correct Answer
Rs 2522

B Rs 3000
Rs 3000
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C Rs 8000
Rs 8000
D Rs 2400
Rs 2400

Answer Given By Candidate:D

Question ID: 100194
Topic Name:SECTION-II Mathematics

Question: ;4 the LCM for 15, 30, 90.
15, 30, 90 QIR LcM GElR K9G |
A 2x3x5=30

2x3x5=30

B 2x3x3=18
2x3x3=18

C 3x3x5=45
3x3x5=45

D 2x3x3x5=90 .
2x3x3x5=90 Correct Answer

Answer Given By Candidate:D

Question ID: 100195
Topic Name:SECTION-II Mathematics

Question: If P:Q = 5:6 and R:Q = 25:9, then what is the ratio of P:R?

Aep:Q = 56 I9°R:Q = 25:9, 666T PR R FFAE 6066 6867

A 76
76
B 10:3
10:3
c 3:10 .
310 Correct Answer
D 75
79

Answer Given By Candidate:B

Question 1D: 100196

Topic Name:SECTION-1I Mathematics

Question: The ratio of ages of A, B and C is 2:4:5 and sum of their ages is 77. Find the
ratio of A’s age to B’s age ten years hence.

A BN9° 5 QDR AGAIE 2:4:5 4° 6AFIeR QAR A 77 26 |
604 A 9 90d ¥9° B © 9099 AGAIe 98 o erI6a Gda eag |

A 10:7
10:7
B 13:8
13:8
C -
12:19 Correct Answer
12:19
D 114
11:4
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Answer Given By Candidate:C

Question 1D: 100197
Topic Name:SECTION-1I Mathematics

Question: The angle subtended by a diameter in a semicircle is:
695 m‘qasa @ QUi 919U K9 6@l6l CLRR:

A 75 degrees

75 @91

B 90 degrees
90 &9l

Correct Answer

€ 45 degrees
45 @91

D 135 degrees
135 @91

Answer Given By Candidate: A

Question ID: 100198
Topic Name:SECTION-1I Mathematics

Question: A ctrajght line that touches a curve at a single point, but does not cross it at that
point is called a:

e daneasl KL 60l F569 95 99 94 G69, g 698 Tg6R 1LIg
GG F69 Q1T B1g FLI:

A Tangent Correct Answer

Qsia

B line segment
AQ6 6RSlIBE

C Ray
Al

D Secant
62Lq

Answer Given By Candidate: A

Question ID: 100199
Topic Name:SECTION-II Mathematics
Question: A quadrilateral with all sides equal in length and all angles equal in measure is

called a:

6Gcluca 2619 a1 2A1E 99° U6 DAY 6916 ACIR 2SI ¥R FPEIRG
QEILN;

A Parallelogram

Al180e 698

B Rectangle

2lde 68%

C Rhombus
AL
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D Square

Qalglm

Correct Answer

Answer Given By Candidate: )

Question ID: 1001100
Topic Name:SECTION-1I Mathematics

Question: \Which of the following is a linear equation with 3 variables?

FINGYS FRIQ 6990 35 JAMTAE 986 99 659 NS 265?

A )(+V:5
X+y=5

B x-y:Z
X-y=2

€ 2x-3y=6
2x-3y=6

D 3x+4y-2=7
3x+4y-2=7

Correct Answer
Answer Given By Candidate: D)

Question ID: 1001101

Topic Name:SECTION-IT Mathematics
Question: i 4 i ) % 4 i
Which of the following is a linear equation in one variable?

Qamee FrIQ 6960 60T FRER 99 65lg1@ AENaqE 2A6S"?

A x*+3x+4=0

x*+3x+4=0

B -
2x+3=4 Correct Answer
2x+3=4

C x2+vz=1
x2+yi=

D (x+1)(x-2)=0
(x+1)(x-2)=0

Answer Given By Candidate:B

Question ID: 1001102
Topic Name:SECTION-1I Mathematics

Question: \which of the following is not a proper subset of {1, 2, 3, 4, 5} ?
ﬁ‘ﬂ@%}_@ FRIQ 6900 {1, 2, 3,4, 5} 9 49 QIS Q64T EjGif?
A& 1,2, 3,4}

{1, 2,3, 4}

8 {1,3}
{1,3}

€ {123}
{1,2,3}
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D {1,2,3,4,5}
{1,2,3,4,5}

Correct Answer
Answer Given By Candidate:D

Question ID: 1001103
Topic Name:SECTION-IT Mathematics

Question:\n/hat is the union of two sets?
Ym 6490 L°64Iol @'él?

A The set of all elements that are in both sets

e 64569 2JQl 4El9 QUILIN0 64%

The set of all elements that are only in one set

6RQR 60T 6996R 291 AF1S RAUIQIAR 697

C The set of all elements that are not in either set

ALl 64960 0'Y)Ql El9 KUILITRN 64

D The set of all elements that are in either set

AL 64969 2JQl 4¢19 QUIQIER 649

Correct Answer

Answer Given By Candidate: A

Question ID: 1001104
Topic Name:SECTION-II Mathematics

Question: \n/hat is the value of V49 + v64?

V49 + V64 Ol £]mY 696% 6497
s 1 Correet Answer
15
B 17
17
c 12
12
b g9
9

Answer Given By Candidate: A

Question ID: 1001105
Topic Name:SECTION-I1 Mathematics

Question: \»/hat is the square of 2x - 3y?

2x - 3y A SR 6960 6297

A4y - Bxy + 9y?
4x* - bxy + 9y*?

B 4x2- 12xy + 9y?

P AT Correct Answer

€ 4x2 + 6xy + 9y?
4x* + 6xy + 9y?
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D Ax%+ 12xy + 9y?
Ax% + 12xy + 9y?

Answer Given By Candidate:B

Question ID: 1001106

Topic Name:SECTION-II Social Science

Question: Traces of ash have been found in which of the following site
as a proof of use of fire in ancient age?

dIS1E LOI6R ATR SUSLINR YIS NTER TS FRIQ
699 JIN6R RGN 0F 6QYRIg ARE?

A Kurnool i
Correct Answer
dgm
B Bhimbetka
(Ao [l
€ Mehrgarh
6£101%
D Chirand
gale

Answer Given By Candidate:C

Question ID: 1001107
Topic Name:SECTION-II Social Science
Question: £y neror Jahangir married in 1611.

delS KILIGNR 1611 FDLI6R G 9919 aReem |

A Mehrunnisa

eeIeEQqd

CorrectrAnswer

B Mamtaz
6101w

C Razziya
Sl

D" Elizabeth
\ﬂﬁEREGQE[

Answer Given By Candidate: A

Question ID: 1001108
Topic Name:SECTION-II Social Science

Question: T |ndian National Army (INA) was established in:
Y269 LIRG1E RIS1E 6991 (INA) 969 @UAIR2ImI |

A 1947
1947

B 1942
1942

Correct Answer

C 1940
1940
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D 1941
1941

Answer Given By Candidate: A

Question ID: 1001109
Topic Name:SECTION-II Social Science

Question: \Which of the following is the salient Feature of Government
of India Act, 1935?

DIRYS RIQ 6XRT QNS QRN AXTAE, 1935Q 614
6FEIRY 265?
A All India Federation

JeUaIG F181g°a

B Dyarchy at the Centre
69560 Gl

C Provincial Autonomy

gI6Qdia gacsIdes!

D All of the above
Correct Answer
RQUCAD LF1D
Answer Given By Candidate:D

Question ID: 1001110
Topic Name:SECTION-II Social Science

Question: o ctive Principles of State Policy of Indian constitution is
borrowed by which country?

RUASIA IRIGR AURY F169 T6aEIR G186 696 6446 FIR

& GeIgg?
A England
mmel
B USA
PN
C Ireland
anaciia Correct Answer

D Switzerland

eI

Answer Given By Candidate: A

Question ID:1001111
Topic Name:SECTION-II Social Science

Question: \which of the following is NOT a Fundamental Duty as per
Indian Constitution?
Ql?mﬂ E]:ﬂbllﬂ AgCIS YYMGIS 1Y 6965 99 6¢1RS
FE9Y geu?

A Respect to National flag
WG delaly deia

‘
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B Defend the country
6G 6l godl

C  Give taxes as per own wish

00 DEl A9 FR9 699!

Correct Answer

D Protection of wild animals

QIR ol

Answer Given By Candidate: C

Question 1D:1001112
Topic Name:SECTION-II Social Science

Question: Which fundamental right of the constitution safeguards
one’s right to move and stay in any place inside India?

JRIING 69Q 66TRe R NG BE6D 6R1ET YFER
A1 2A1DF 99° QLI 2RYRIAG YORES QER?
A Right to equality

RG] 2RIFIN

B Right against exploitation
GElIES QQRER ARR

€ Cultural and Educational rights
d1°9ea 6 SaI9G 2ARIARX

D Right to freedom

QRIGEIR ZRIFIR Correct Answer

Answer Given By Candidate:D

Question ID: 1001113

Topic Name:SECTION-1I Social Science

Question: Who is the chief advisor to the Governor of any state of
India?

ARER 6516A AURYA URYAIRE 54 ARG @ ?

A Chief justice of High Court of that state
692 RURYIR TIREKITR o YRIEE |

B Chief minister of that state

6d% QUKD oGl

Correct Answer
C  Chief secretary of that state

69E QURIRQ oY TIge 9T

D Home secretary of that state

64% QURIQ g 9o

Answer Given By Candidate:C

Question ID:1001114
Topic Name:SECTION-II Social Science
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Question: \wn among the following can attend the meetings of both

Houses of Parliament while not being a member of either House?

TYREE CRIP T4 9°I00 Q@K 99 650965 64115]
6LRUINES ¥9° 6TIER HER IO 6LIRAIRES Q&2

A The Attorney General of India
[alialals] algq 6REaaUMm Correct Answer

B The Chief Justice of India
LUAGH YuIe SRIUE

C  The Vice-President of India
WACR @E]‘B\l%‘ai—?

D The Auditor General of India
QIOGR TR 6REEAUM

Answer Given By Candidate:Not Attempted

Question ID: 1001115
Topic Name:SECTION-II Social Science
Question: The thermal equator is found:

Slae TYS 696l 69¢Ng F6m:

A At the equator
@ﬂ@ 66D

B South of the geographical equator
EQPRG QY 696N FE6R

C North of the geographical equator
6QITRG Y9 696N ARAER

Correct Answer

D At the tropic of cancer

RG% 6QGIER

Answer Given By Candidate:B

Question ID: 1001116

Topic Name:SECTION-II Social Science

Question:No trees are found in Tundra biome near polar region of
northern hemisphere. This is due to:

QAG 6SININR 6(1Q 2SR FRTER FEI 669 65lIFIER
69169 OIR 6Q5QIg FI6R QIE | 9LIR FIDE 62QS:

A Snowfall inhibits plant respiration

SUIQQIS GI8 FILTAER QI T R6Q

B Frozen ice beneath the surface soil (permafrost) restricts root
growth
QYY FIT G6R REll 6LINS AP (FRIATIQR) (IR 98
g6efe @bl

Correct Answer

C Less wind movement and inadequate sunlight

U999 98 Q] 9e° JAIRQE e

‘
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D Low temperature which restricts development of reproductive
organs

Qe SIDEIE] FILl dRae PR RIS RS F6Q

Answer Given By Candidate:D

Question ID: 1001117
Topic Name:SECTION-II Social Science

Question: M aximum saffron is produced in which state/UT of India?
QRSN 699 ARY/6RGHITS 2GR ‘EléleG? 669 aglee
g

A Himachal Pradesh
QEoR g6l

B Arunachal Pradesh
AQElTm deL'sl

C Andhra Pradesh
2Igg6Qd

D Jammu and Kashmir

aeg-aa

Correct Answer
Answer Given By Candidate: A

Question ID: 1001118
Topic Name:SECTION-II Social Science
Question: Tha term ‘Sunrise Industry’ can be related to:

'Jedulen 89" 69 T 9E 986 Ja86 6L1RdI6R:

A Iron and steel industry
nel 6 Q9Ie 87

B Cotton textile industry
@dl Qe 89

€ Cement industry
deciq §ig
D |nformation technology

9ol gg@aael

Correct Answer

Answer Given By Candidate: A

Question ID: 1001119
Topic Name:SECTION-II Social Science
Question: The polar circumference is smaller than the equatorial

circumference by approximately:
661Q 0R] IRIe8 @Y At 0IQ 681G 266"

A 67 km
67 km

Correct Answer
B 60 km
60 km

€ 125km
125 km

WtsApp/Call- 8596976190
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D 225 km
225 km

Answer Given By Candidate:Not Attempted

Question 1D:1001120
Topic Name:SECTION-II Social Science
Question: The mineral that occurs most abundantly in the Earth’s crust

is:
qeg@m @qqea 65{,1%{) S GQ‘IE‘j ‘Z}QOIQ )@ flglenl
696N Glel 6€MI:
A Silica
AR

Correct Answer
B Bauxite
QgInG

C Manganese

AIGPIRS
D Tin
oq

Answer Given By Candidate:Not Attempted

Question ID: 1001121
Topic Name:SECTION-II Science
Question:

Which is true with respect to gases?
GiIg YANER 699 QBT €8 ?

A Gases have the highest density among the 3 states of matter

AQIela 36 del FlRl6R GMIER 96! SRR

B Intermolecular force of attraction is the least in gases among the 3 states of
matter Correct Answer
AQIeia 36 26l CRIQ GUIKER AIRdan 26T 69 996 2166

C  lts volume and shape is fixed

LR RIS 99° 2I9%6 8 6LInE

D Gases are highly incompressible

QIgl 2SR 2L GRS 26T
Answer Given By Candidate: A

Question ID: 1001122
Topic Name:SECTION-II Science

Question: \\/hy is pressure cooker used for cooking?
6RI6HR IR 6999 9N QIEE QUGS 99

A High pressure increases the boiling point of water in the cooker and
enables faster cooking
Qe Pld @RACK 2% dd fjj@@l @&ﬁi QeI 99° dly 6UCAD
A0QI6% 987 %Rl

Correct Answer

‘
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B High pressure decreases the boiling point of water in the cooker and
enables faster cooking
Qe 919 §RA6A 29I AIEIR P QGG LY KRR 99° §l1g] 6UCHR
FOQN6A AV FER

€ Low pressure increases the boiling point of water in the cooker and enables
faster cooking
Q¢ 018l RA6R AIFR FTRI FgG RIN2AN IS° &g EAUCHR FAFIER
ANEl @2

D Low pressure decreases the boiling point of water in the cooker and

enables faster cooking

0¢l 919 §RA6R 29I AER FTN 999 219 KRN 99° 1G] 6AUCTR
RORI6Q LV FER

Answer Given By Candidate: A

Question ID: 1001123
Topic Name:SECTION-II Science
Question:

Which among the following is the softest?
ﬁ‘?‘]‘r’.—ﬂﬁl‘a‘ elaQ) 6Ra5 d90IQ @] 265"?

A Sodium Correct Answer

6€l@aAe]

B lIron

Qe

€ Aluminium

2RATA

D Copper
Qe

Answer Given By Candidate:A

Question ID: 1001124

Topic Name:SECTION-II Science

Question: = & ) ’ 4
What does positive catalyst do in a chemical reaction?

ALALS JERAER IRIAUE]R ASELRG @'¢l @RIN?

A It increases the rate of reaction

gl 9ol 19g Q@RI

Correct Answer
B |t decreases the rate of reaction

el goqal 2log 219 @Rl

C It provides better purity of the products
gl QYI9gEan Kafl §ael dele at2llg

D It increases the yield of the products
g1 U AR 9F @Rl
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Answer Given By Candidate:C

Question ID: 1001125

Topic Name:SECTION-II Science

Question: % « & . <
Which one of the following is a double displacement reaction?

YRS FRIP 699 98 9 TS G5TA 2667

sunlight

2AgBr(s)——— 24g(s) + Bry(g)

sunlight
2AgBr(s)——— 2Ag(s) + Bry(g)

B C(s) + 0:2(g9) — CO,(g)
C(s) + 0z(g9) = CO,(g)

€ CuS0,(aq) + Ca(s) - CaS0,(aq) + Cu(s)
CuS04(aq) + Ca(s) — CaS0,4(aq) + Cu(s)

D 2HCl(aq) + ZnS(s) = ZnCly(aq) + H,S(g)
2HCl(aq) + ZnS(s) — ZnCly(aq) + H,S5(g)

Correct Answer

Answer Given By Candidate:C

Question ID:1001126
Topic Name:SECTION-II Science

Question: 1 force of gravitation is:

JReIadda 68 69a8:
A Attractive and repulsive
2add 9e° goas
B Non — Conservative
26l — QIS
C Repulsive
goad
. .
.. Correct Answer
2addl

Answer Given By Candidate:Not Attempted

Question ID: 1001127
Topic Name:SECTION-II Science

Question: \y/hich of these converts light energy to electrical energy?
9geR FRIQ 699S ZiAIT 93 637467 F861 URES A6R?

A Electric Generator

REARTR 6R6TEATR

B Battery
QYIEL'N
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C Electric Iron
REMRER NG

D Solar cell

69IRIQ 69R

Correct Answer

Answer Given By Candidate:D

Question ID: 1001128
Topic Name:SECTION-1I Science

Question: The yelocity of an object changes from 14m/s to 39 m/s in 5 sec. What is

the acceleration of the object?

6@l61E Q99 6961 5 696QEA69 14 FT0Y/6L6AR 39 A960/64606g
aaeae 99 | 949 LRULRE @'€1?

A 6 metre/second?
6 A9Q/65160 62

B 4 metre/second?

4 F199/696R6)?

C 5 metre/second?

5 £19'0/696QE?

Correct Answer

D 3 metre/second?

3 F19'9/696Q4?

Answer Given By Candidate: A

Question ID:1001129
Topic Name:SECTION-II Scienee
Question:
Negative charge of the DNA is due to the presence of

DNA @ @@IQU¢]q Qe A QUES QINEIQ 6LIR2G |

A Nitrogenous base

2IR6LIcR D 2N

B Phosphate group
PLEPY S

Correct Answer
Hydroxyl group present in sugar
FRER 29I LINCLIFM Q€

D Sugar
o
Answer Given By Candidate:Not Attempted
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Question: Genetic information is transferred from nucleus to cytoplasm through

. 2Ige°de 9oa! CIRIFIER 9 6RFIR 6RIVNLG
29106 99 |
A RNA Correct Answer
RNA
B DNA
DNA

C Lysosomes
ARACY
D Anticodon

geealee

Answer Given By Candidate:B

Question ID: 1001131
Topic Name:SECTION-II Science
Question:

When the thalamus also contributes in fruit formation, such fruits are
called

6HELER6M YYRIA £12] P 1060 6dIDlWS 64n2lN, 6LD656R6M

Jam P QLI |

A True fruits

de 0w

False fruits

_ Correct Answer
8 Pw

C Ripe fruits
I PR

D Dormant fruits

g4 o

Answer Given By Candidate:D

Question ID: 1001132
Topic Name:SECTION-II Science

Question: | Opuntia, the spine is the modification of:

3gE2I6S, 6]1998 6208 ILIR CSIRIE:

A stem
@l
B root
60
C leaf 7
ae Correct Answer
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D flower

gt
Answer Given By Candidate:A
Question ID: 1001133
Topic Name:SECTION-II Science
Question:

The primary root is short lived and is replaced by a large number of roots.

This statement is TRUE in case of:
glﬂﬁﬁ? ¢l YN 265 99° @F 9°olUa ¢ I I6e e | 9@
TR 9L 68869 96:

A Only monocotyledonous plants

6QQR CAIERICRITEMELINIL GIS

Correct Answer

B Only dicotyledonous plants
6@QR GINERITEMERY o8

€ Both monocotyledonous and dicotyledonous plants
R2LR9) GﬂlGﬁlﬁﬁ?l@GﬁﬂG@Iqu Qe @I@GQ@G@@Q ol8
D Neither monocotyledonous nor dicotyledonous plants

6£6RIERITEMERINIEY G6T @ CIRERITENead FI] g6

Answer Given By Candidate:Not Attempted

Question ID; 1001134
Topic Name:SECTION-II Science
Question: Foot-and-mouth disease is caused by:

die B 9IF 6916l 9L RINEQ 6LIR2IN:

A Bacteria

Qg

B Virus
@114 Correct Answer

€ Fungus
@99

D Protozoa
6gI616w12l

Answer Given By Candidate:B

Question ID: 1001135
Topic Name:SECTION-II Science

Swestion; The full form of 'HIV' is
NL2IRE'Q detdl Qd 6968 |

A Human Immunodeficiency Virus
Correct Answer

QUAIR REUERNELTFL2IR, UNAY
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B Human Immunity Virus

QUEIR REIET URRE

€' Highly Immune Virus
¢iom QI ARAL

D Human In-Vivo Virus

QYel] RY-GI68I AR

Answer Given By Candidate:C
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